Ch.3 Section 2 Study Questions

“Why Do People Migrate?”


Name: __________________________  Date: _____________

	17.
	Irish migration to North America in the mid-1800s is an example of

	A)
	forced migration.

	B)
	migration which reflects both forced and voluntary aspects of migration.

	C)
	voluntary migration.

	D)
	cyclical migration.


	18.
	Gender studies of migration indicate that men ______________ than women.

	A)
	are more mobile

	B)
	migrate farther

	C)
	have more employment choices and income

	D)
	all of the above


	19.
	The smallest number of slaves involved in the Atlantic slave trade was sent to

	A)
	British Caribbean.

	B)
	Brazil.

	C)
	French Caribbean.

	D)
	British North America.


	20.
	Between 1788 and 1838, tens of thousands of convicts were shipped from Britain to which of the following continents?

	A)
	Africa

	B)
	North America

	C)
	Australia

	D)
	Asia


	21.
	One of the “laws” of migration as derived by Ravenstein states that

	A)
	urban residents are more migratory than rural.

	B)
	rural residents are more migratory than urban.

	C)
	urban residents are less migratory than rural.

	D)
	rural inhabitants hardly ever migrate.


	22.
	Ravenstein, in his study of migration, suggested that there is an inverse relationship between the volume of migration and the distance between the source and destination.  That is, the number of migrants _____ as the distance they know they must travel increases.

	A)
	increases

	B)
	decreases

	C)
	remains the same

	D)
	decreases and then rises


	23.
	What is the model which states that spatial interaction between places (e.g. migration) is directly related to the population size and inversely related to the distance between them?

	A)
	gravity model

	B)
	model of emigration

	C)
	distance decay model

	D)
	intervening opportunity model


	24.
	According to Ravenstein, migrants who move longer distances tend to choose

	A)
	warmer destinations.

	B)
	open “frontier” areas.

	C)
	big-city destinations.

	D)
	to migrate as a family unit.


	25.
	What push factor compelled more than 50,000 Asians to leave Uganda in 1972?

	A)
	It was too hot and crowded.

	B)
	Food was in short supply.

	C)
	Uganda's economy collapsed.

	D)
	Ugandan leader Idi Amin expelled them.


	26.
	Of the 10,000 inhabitants of the Caribbean island Montserrat, 7,000 have left the island and the remaining 3,000 have moved to the north coast of the island because of

	A)
	hurricanes.

	B)
	the collapse of the banana economy.

	C)
	volcanic eruptions.

	D)
	civil war.


